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Question 1.Select the related word/letters/numbers from the given alternatives:
&3 I faehodl & @ Aefetrd Ysey 3TaT/TEAT 1 IAT|
Calender : Dates : : Dictionary: ?

FoisT : ARG :: 2ASE P :?
Options:

1) Words

Asq

2) Books

gEdh

3) Language

ST

4) Vocabulary

g

Correct Answer: Words
Aeq

Candidate Answer: Words
Asq

Question 2.Select the related word/letters/numbers from the given alternatives:
&3 I faehedl 7 @ Aelfetrd Ysey 3TaTR/TEAT 1 IAT|

ACEG : BDFH : : PRTV : ?

Options:
1) QSUW

2) WUSQ
3) 0QSU

4) CEGI
Correct Answer: QSUW
Candidate Answer: QSUW

Question 3.Select the related word/letters/numbers from the given alternatives:
R T faehodl & @ Hafotrd Yree) 37aR/EEaT H gfT|

15:225::12:7?

Options:

1) 144

2) 122

3) 112

4) 222
Correct Answer: 144
Candidate Answer: 144
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Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

T 1T Taehedl 1 & Tawey Wee/376T/EEAT 9A 1 giAT
Options:

1) Teacher and Student

RueTh 3R o

2) Chemistry and Science

T2 31X faeieT

3) History and Mathematics

sfaer AR 9o

4) Air and Oxygen

ary 3R e

Correct Answer: History and Mathematics
sfagr 3R aifora

Candidate Answer: History and Mathematics

sforgra 3T aifora

Question 5.

For the following questions

Find the odd word/letters/number from the given alternatives.

Teu 91T faehont A & fawe ree) 3reR/dEar r g

Options:
1) DGI

2) MO
3) PRT

4) TWY
Correct Answer: PRT
Candidate Answer: PRT

Question 6.

For the following questions

Find the odd word/letters/number from the given alternatives.

few 91w faehoat 7 & fawer eree) 3reR/TEar i g

Options:
1) 343

2) 64
3) 75

4) 27
Correct Answer: 75
Candidate Answer: 75
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Question 7.Arrange the following words as per the order in a ditionary.

@ ermal # e 7 T v #a & 37ar R
1. Drum

2. Drubbing

3. Drunken

4. Drudgery

5. Duster

Options:
1)3,1,5,4,2

2)2,4,1,3,5
3)1,3,4,52

4)2,1,4,3,5
Correct Answer: 2,4, 1,3,5
Candidate Answer: 2,4, 1, 3,5

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

TeFAoTREc Tea 1 Teh 3refsha T ara §, TSl Ueh ve ofed &1 feu 91e fashed 1 & a8 WaY faehoT Ifaw it 3regshat o1 @
BMY, DNW, FOU, ?

Options:

1) GHO

2) HGO
3) HPS

4) HPT
Correct Answer: HPS
Candidate Answer: HPS

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

TFAATEe TeaT 7 Toh 37eThe T ara &, Toiee Ueh ve ofed &1 fw 910 fashedt & & a8 Wel faehod giaw St 31egshel o1
(3,5, (5, 7)(?), (11, 13)

Options:

1)(7,9)

2) (7, 11)
3) (9, 11)

4) (9, 13)
Correct Answer: (7, 11)
Candidate Answer: (7, 11)

Question 10.I go 5 km East, then turn right and go 8km. Then I turn left and go 5 km and then I turn left and go 8 km. At what distance am I from the starting point?

# qd i 3R 5 Al ST ¢, 6T arit 3T apge 8 foh.al. S €1 3 o ot 30 gz € 3R 5 ko, e € 3l o 3 el 30 g € 3R 8 fn. o, et €1 wRfPereh
1 & # fohael g7 g ?

Options:
1)8

2)0

3) 10

4)5

Correct Answer: 10

Candidate Answer: 10

Question 11.Pankaj is taller than Vinod, who is shorter than Pramod. Usha is taller then priyanka but shorter than Vinod. Pramod is shorter than Pankaj. Who is the
tallest?

Geho Taile & e 1 faeile TG & Bier &1 39T et & ofdl & foheq] faiie & oIdT &1 THie Uehol & BICT &1 Had el il & ?
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Options:
1) Priyanka
Rrziepr
2) Pramod
Yo
3) Vinod
Eoicy
4) Pankaj
Jehal

Correct Answer: Pankaj
Gehal

Candidate Answer: Pramod

gAe

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

TFATEr faehetl & & g 2ec AT S TGU 91T 2lee & &R T FATT dleh w61 ST SIT HeelT
MEASUREMENT

Options:

1) Master

2) Eastern
3) Summit

4) Mean
Correct Answer: Summit
Candidate Answer: Summit

Question 13.In a certain code, "go home" is written as "ta na" and "nice litle home" is written as "na ja pa". How is "go" written in that code?

R 15 7 ' GO HOME' &1 'TA NA ' 31 "NICE LITTLE HOME" &Y "NA JA PA " f@T SITdT & ot 38 i3 & "GO" &t & for@r sireen ?

Options:
1) ta

2) na
3)ja

4) naorta
Correct Answer: ta
Candidate Answer: ta

Question 14.If P denotes '+', Q denotes 'X', R denotes '+' and S denotes '-', then

IREPHIT '+ §, Q3T X' §, RFTIY '+' &, 3R S &1 37 ' &, Ot Re=Afaf@a west &1 AT A
18Q12P4R5S6 = ?

Options:

1) 53

2) 54

3)57

4) 95
Correct Answer: 53
Candidate Answer: 53

Question 15.If 23 x 16 = 184, 37 x 10 = 185, then 85x 12 = ?

fg 23 x 16 = 184, 37 x 10 = 185 &Y, AY 85x12 & AT AT Hifaw

Options:
1) 511

2) 610
3) 510

4) 410
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Correct Answer: 510
Candidate Answer: [ NOT ANSWERED ]

Question 16.Select the missing number from the given responses

fw a1v el 7 @ ofec E&AT #AT FY

2 4 2

4
5 5 | 3 7/
0

8 6 | 4

Options:
1)2

2)3
3) 10

4) 11
Correct Answer: 10
Candidate Answer: 2

Question 17.Rana walks 20 m straight in north direction and 20 m to the right. Then every turning to his left he walks 5, 25 and 25 metres respectively. How far is he
from his starting point now?

T 3ee R # 20 #re e 31 T 20 #ex &[T Hge =Tefall ¢ 1 T §T a1 91T Hge shemr: 5, 25 3R 25 HAley =oidT §1 AR TEe T & a8 e gr 8 ?
Options:

1)5m

5 Al

2)20m

20 #Arex

3)25m

25 ArieX

4)30 m

30 #Aex

Correct Answer: 5 m
5 ArY

Candidate Answer: 5 m
5 Hiex

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: 1. Some girls are stars.

2. Meena is a girl.

Conclusion I: Meena is a star

ConclusionlI: Some stars are not girls

AR U2 & T I7 &) IoFded G 33 &, e 319 & fases/aAadam, 1 3R 11 et a1 &1 39t f3aR et § & aordey acg € O 98 afeaa: ud azar a
T Il BT 81 TRt ToRT S°taTT & o foU 910 gardey & @ Ai-ar ARad 9 O TeT fAsay/AadT Fehrelr ST SehdT § ?
gy : 1. Fo iR &R B

2. AT A= B

sy : [ e &R B

11 & VR o376 81

Options:

1) Only Conclusion I follows

ol fsHy [ T gl

2) Only Conclusion II follows

Fael sy 11 T 8

3) Both Conclusions I and II follows

forsey 1 317 11 gt T €1

4) Neither conclusion I nor II follows

AT Y SRy I e g 3R A1 € sy 11 T g

Correct Answer: Only Conclusion II follows

Fad fosay 11 T g
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Candidate Answer: Neither conclusion I nor II follows

A1 Y ARy I TEY & 3R A1 € sy 11 T8 8

Question 19.How many triangles are there in the question figure?

& at$ far 3 foncr Preger § 2

Options:
1) 16

2) 23
3) 26

4) 31
Correct Answer: 31
Candidate Answer: 31

Question 20.Identify the diagram that best represents the relationship among classes given below:
g 3G AT S A T 1w a9l & ey w1t Toaeer a1 gefiar § 2

Professors, post graduates & employed.
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Options:
1)

| i
|

i ]
| ]
Qs
| CH
| ]
EEEEEEEEEEEE
Correct Answer:
Candidate Answer:

@

Question 21.Which answer figure will complete the pattern in the question figure?

FleT-TN SecT THTT Tt JMepla & FTAeT T O vl ?

AN
A
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Options:
1)
|
[
[
|
[
[ /
|
[
[
|
2)
3)
4)

N

Correct Answer:

7.

Candidate Answer:

7
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Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 1§ SeaT IR H & 3 Seak 3Tl A AT Torasd gea 3mpfar AR & 2

Options:
1)

A A

Correct Answer:
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options:
1)
CemsemmEREEE
i H
e
i .-_-T-_-.
o
|
2)
3)
u)
Ln}
n
ju)
4)
== <>
= | <>

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

Download More PapestafSetestiongopmisiovtobsAlert.In

I el shreret o, fier eaT JMTepfaal # R 31eTaR Hsa FieT ST df Wiele! & J16 a6 o 3ca il Shar fewrs &am 2

Correct Answer:

T T T

oin

b -

Qo

IA‘
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Candidate Answer:

—_——————————

oo

TR LEL bl

Qg

Question 24.If a mirror is places on the line MN, then which of the answer figures is the right image of the given figure?

I weh SO &1 MN G O @1 ST &Y & 918 3] 3ThTordl & F hlad-d el weaT 3mepfer o1 @y gfafaey g 2

M N

Options:

1)

3)

4)

i}

Correct Answer:
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Candidate Answer:

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of nhumbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'A' can be represented by 04, 12, etc., and 'R’
can be represented by 55, 67, etc.Similarly, you have to identify the set for the word 'BENT".

i@ weet 7 Reredt 3 v v Fear-wegg, 316K & ar Jeif ganr &:fiv 97w §, SR fo ofer e a1w & smreggl 1 &1 31regg [ & et iR afad i aear 0 & 4 d& &
TS ¥, 3 3eTE 11 & 58 9 e, 37 TSR & T 38R H Tgol 38T Gfad R a16 7 FA97 FEAT SanT SR ST Hhell §1 3ET6<0T & o, A &1 04, 12, 377 gan geir
SIT Gehell § T R &I 55, 67,311 S@RT S=fRr ST @l §1 S8 ¥ & 39! AU 2ree 'BENT' & foIT GHg I ugretelr 1

MATRIX | MATRIX 11

0 1) 2] 3|4 E |'6| 7|8 |9
0O B C D E|A S| R|O| N|T /(U
al D) E| A|B|LC 6 TIU R O |N
2| C| Dl E|A|B 7 |O|N|T|U]|R
3| A|lBlC|D|E||I8B|U|R|O|N |T
4| E| A| B | C | D 9| N|T|U |R |[O

Options:

1) 42, 34, 79, 77
2) 00, 11, 76, 78
3) 31, 22, 88, 58

4) 42, 34, 76, 88
Correct Answer: 31, 22, 88, 58
Candidate Answer: 31, 22, 88, 58

Question 26.Which of the following states has the lowest literacy rate?

rAfafad U=al # O o e FH ARRATER § ?
Options:

1) Kerala

el

2) Rajasthan

T Tl

3) Bihar

IS

4) Maharashtra

HERISS

Correct Answer: Bihar
IERIS

Candidate Answer: Bihar

[EES

Question 27.0n which date is India likely to experience the shortest day?

AR & T BT BT Fa glar g ?
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Options:
1) December 22
22 fearer
2) March 21
21 Fr
3) June 22
225
4) September 23
23 R{aF

Correct Answer: December 22

22 fgaeeR
Candidate Answer: December 22

22 GEFR

Question 28.Precipitation in the form of a mixture of rain and snow is called

SR 3R AU 3 Teh A glet I 3T Sl FAT g © ?
Options:

1) Drizzle

RafEa siker

2) Hail

EICREC]

3) Sleet

FhTel STREr

4) Snow

[EEIc]

Correct Answer: Sleet
hfelr aTier

Candidate Answer: Hail
EICRECH

Question 29.Fuse wire is made of an alloy of

Tl AR e fRsreng s gl 8 2
Options:

1) Tin and Lead

et AR o

2) Tin and Copper

feat 3k amer

3) Lead and Copper
CERIEESIC

4) Copper and Silver

afer 3R ReaR

Correct Answer: Tin and Lead

et 3t o

Candidate Answer: Tin and Copper
et 3R arer

Question 30.Bacterial decomposition of biological material under anaerobic condition is

Jardr fRufer 7 Sifde e & ShaTu] 3qeres 1 #4T Hgd & ?
Options:

1) fermentation

[Cacoicrul

2) fertilization

ECRETLl

3) contamination

TeyoT

4) composting

FHFqITEET

Correct Answer: fermentation

TPugefteRtoT

Candidate Answer: composting

FENEEaT
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Question 31.Which of the following has the lowest frequency?

RAfaf@a & & fra-7 ~gaaaa 3ngfed gidr g ?
Options:

1) Visible light

Y JhRT

2) Gamma rays

AT fRoT

3) X-rays

X foreor

4) Ultra violet rays

R ST oot

Correct Answer: Visible light
TRY JhRT

Candidate Answer: Visible light
Y JhRT

Question 32.UDP is a

UDPFTE ?

Options:

1) connection - oriented protocol
Fr T e

2) connectionless protocol
FeiaeleT Mg TIeihre

3) user-defined protocol
FoR-TSHISUS Hicknlel

4) security protocol

e deiehrer

Correct Answer: connectionless protocol

Farerelel YR Hietehter

Candidate Answer: user-defined protocol

IoR-TSHIEUS HIekhler
Question 33.The important book written by Kautilya is

HieeT gamr IR 9fig e Hher A &2
Options:

1) Arthashastra

I

2) Indica

gfTgar

3) Arya Manju Sri Mula Kapa

T Heg] A Fel FIT

4) Rajatarangini

Tretax ferofr

Correct Answer: Arthashastra

AT

Candidate Answer: Arthashastra

3referET

Question 34.The northern part of the west coast in India is known as

R #H I T & Sl 1T & FAT Fed ¢ ?
Options:

1) Konkan coast

FIRUT AT

2) Coromandel coast

FRIFASA AT

3) Malabar coast

HTelEIR dc

4) Godavari Coast

et d¢

Correct Answer: Konkan coast
FIhUT IT
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Candidate Answer: Malabar coast
HIR dc

Question 35.The elements known as primary nutrients for plants

gt & fT grafde Qv dedl & & H AT ded A T E?
Options:

1) Nitrogen, Phosphorus and Potassium

ATSENSTeT, BIEPRE 3R qe s

2) Nitrogen, Oxygen and Silicon

SIS, Jitardiiete 3R Ao

3) Potassium, Boron and Nitrogen

IR, SR 3R ABge

4) Nitrogen, Phosphorus and Iron

AT, BIEPRY 3R T

Correct Answer: Nitrogen, Phosphorus and Potassium
ATSEISTT, BIERRA 3R qreRgs

Candidate Answer: Nitrogen, Phosphorus and Potassium

ATSeIsTe, BIEpRY 3R drefRgs

Question 36.Which sanctuary in India is famous for Rhinoceros and in which state is it located?

2 & fav ufdg aRvg Fla-W e iR T RRaTT A Rya g ?
Options:

1) Gir, Gujarat

R, TR

2) Kaziranga, Assam

3) Ranthambore, Rajasthan

ToTF, oA

4) Corbett, Uttarakhand

FIEC, ScaTWUS

Correct Answer: Kaziranga, Assam
Candidate Answer: Ranthambore, Rajasthan

TORFAR, ToTedTeT

Question 37.'Davis Cup’ is associated with the game of

3T FU' T Ty T QT TR ?
Options:

1) Cricket

fohohe

2) Lawn Tennis

dlet e

3) Badminton

CEEC

4) Table Tennis

[EERAGE:S

Correct Answer: Lawn Tennis
dlet e

Candidate Answer: [ NOT ANSWERED ]

Question 38.Charles Darwin, the famous evolutionist, proposed his theory in which one of his books ?

il fasraary ared sifder & 3r9el o g & 39t figTed &1 wfcaest foar ?
Options:

1) The families of flowering plant

& hfAeST 31T FeliaReT Talee

2) The origin of species

& 3RS 31T Tfder

3) The life on earth

& oS e 317

4) The story of the living world

g TR 3T & fodier aes
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Correct Answer: The origin of species
g 3RS 31w e
Candidate Answer: The origin of species

g 3RS 3T Tfder
Question 39.'Green Banking’ means :

‘afieT SfeFer T T 3T & ?

Options:

1) Banks financing agriculture

Y &7 faed Nor = ATl S

2) Banks financing irrigation projects

s aRAST=it 1 e 9vor == arer &
3) Banks financing farmers

et & facd NYUT et aTer S

4) Banks financing pro-environmental projects

TIRIaRoT EXEfT TRASAT3N T [Fed 9T e aTet

Correct Answer: Banks financing pro-environmental projects

TgaRoT TREN IRANSTAR & faed NV et arer S

Candidate Answer: Banks financing pro-environmental projects

TITIERoT el TRASATN FT [aed 90T et arel dF

Question 40.Who was the first Indian Governor General of Independent India?

AT AR & TUH AR IR Ao it & ?
Options:

1) Rajendra Prasad

Toleg, 941G

2) C. Rajagopalachari

. TeeTTeaRy

3) A. Kriplani

T. FTellAr

4) Lord Mountbatten

oIS ABvedes

Correct Answer: C. Rajagopalachari

Q. TagTrY

Candidate Answer: C. Rajagopalachari
. TreiaTeraRy

Question 41.A fresh egg when placed in salt water will

Tk dTel 3798 &l sTHF & UTeil 3 STelel U FAT BT & ?
Options:

1) sink and go to the bottom

ZEET ool 7 Tl ST §

2) sink but will not go to the bottom
B ST § el ool 3 7161 STl &
3) float

GEGIRS

4) burst

e ST &

Correct Answer: float

GEGIRS

Candidate Answer: float

Rarg

Question 42.A genetically engineered form of brinjal known as the BT-brinjal has been developed. The objective of this is

§7eT Y T IeTAITRI Foliiet S BT-TiTel & A1 & ST Sl €, Tashf8et 1 1S &1 56T 3evT FATE
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Options:
1) to make it pest resistant
34 & AN 9111 & faw
2) to improve its taste and nutritive value
8% TG 3R OV dedl & dg & fow
3) to make it drought resistant
3 T el @Y & e
4) to make its shelf-life longer
5T YT SfiaeT Jo & fow

Correct Answer: to make it pest resistant

39 e Aol &aT1e & faw

Candidate Answer: to make it pest resistant

&4 FIe Ve F7 o & o

Question 43.Three crops that contribute maximum to global food grain production are

RGP WIeHTeT cUTe H I TAFAH TETETT Fe aTel el Bl Hied-AT & ?
Options:

1) wheat, rice, barley

2) rice, maize, sorghum

Tdel, AFHI, TAEH

3) wheat, maize, sorghum

3ig, Ferehl, T

4) wheat, rice, maize

3, <o, FRT

Correct Answer: wheat, rice, maize
ig, =nae, FeHT

Candidate Answer: wheat, rice, maize

Question 44.Which of the following is a tertiary activity?

A8 7 & ier-ar el Bramrend §?
Options:

1) Farming

odr

2) Manufacturing

fafaeor

3) Dairying

Epie)

4) Trading

efgar

Correct Answer: Trading

efsar

Candidate Answer: Trading
e

Question 45.The compound used in prickly-heat powder to prevent excessive sweating is

3T I FT Aehed o fIT TAehell §Ie I133T # FiT-3 A 1 2T frar srar g 2
Options:

1) Boric acid

SR 3T

2) Phosphoric acid

HIERIRER 3T

3) Carbonic acid

Frafferen 31Fe

4) Sulphonic acid

Hehiferen 31FeT

Correct Answer: Boric acid

SR 3T

Candidate Answer: Boric acid
SR 3T
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Question 46.Which of the following is least likely to be an effect of global warming?

s A giE & Pefaf@a # @ frgent wa gema gl ot Hetaa gl 8 ?
Options:

1) Increased frequency of hurricanes

Tt (§ReeT) T TR-TR gl

2) Loss of fertile delta region as for agriculture

FI & fore 34 Seer &t a7 47T @l

3) Decreased rate of photosynthesis in vegetation

TATITT H ThRI-EREIOT T & H FH#AT glaAT

4) Shrinking of the polar ice regions

g Tt a3t ot Rigpsar

Correct Answer: Decreased rate of photosynthesis in vegetation
FoTETTY F TRIR-ERAVOT T 6T 7 AT gleT

Candidate Answer: Shrinking of the polar ice regions

e fge &7t &1 g

Question 47.Which State in India has introduced FAT Tax on junk food

R % fohe TS & 5 {5 W) the Ty ol § ?
Options:

1) Rajasthan

STl

2) Kerala

el

3) Andhra Pradesh

3T geRm

4) Bihar

IEG

Correct Answer: Kerala

el

Candidate Answer: Kerala

Erel

Question 48.Gandhiji's first Satyagraha in India was held at

R # I ST T T2AH HedTarg el §3HT AT ?
Options:

1) Champaran

FFIROT

2) Ahmedabad

3igHACHEIE

3) Kheda

Qsr

4) Allahabad

ERIQCICY

Correct Answer: Champaran
TFIROT

Candidate Answer: Ahmedabad
3gHCIEIE

Question 49.Golden Quadrilateral Project for the development of National Highways was initiated by

T oAt & faere & foe wafthe aqeler TRatse foras qan g i ars o ?
Options:

1) P V Narasimha Rao

dr.dY. Ri¥FT Ia

2) I K Gujral

3TE.3. TRTeT

3) Manmohan Singh

AAE g

4) Atal Bihari Vajpayee

e fogrT gy

Correct Answer: Atal Bihari Vajpayee

31eo gy arsoY
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Candidate Answer: P V Narasimha Rao

ot R¥FeT g

Question 50.Which of the following sources has the largest share in power generation in India?

R # fegd 3cutee & Tod a3 et fefaf@a feedt & & frgehr ¢ 2
Options:

1) Atomic power

TRAfAF it

2) Thermal power

UHA Sl

3) Hydro power

REEEE

4) Wind power

ag Fefr

Correct Answer: Thermal power

A ST

Candidate Answer: Thermal power

I Faft

Question 51.24 men can do a piece of work in 17 days.How many men will be able to do it in 51 days ?

24 T R 1A H117 T 7 a1 T §1 51 8T 7 ot 3mest 59 1T &1 qu X ael?
Options:

1)8

2) 10

3)12

4)6
Correct Answer: 8
Candidate Answer: 8

Question 52.In a cyclic quadrilateral ABCD , the side AB is extended to a point X. If 2XBC = 82° and £ADB = 47° , then the value of «BDC is

T <1 TGS ABCD H, AB =T &1 [8zg X o7 agrar Sirelm 81 & 2XBC = 82° 31 2ADB = 47° g & 2BDC &1 H J13U ?

Options:
1) 40°

2) 35°
3) 30°

4) 25°
Correct Answer: 35°
Candidate Answer: [ NOT ANSWERED ]

Question 53.The marked price is 10% higher than the cost price . A discount of 10% is given to the marked price . In this kind of sale the seller

Ffrd 7T FF 7T T 10% 31U §1 3T 7od T 10% T P & 71 §| 38 TR 1 st 7 fashar =1 -
Options:

1) bears no gain , no loss

ATAT T AR AT &

2) gains

CIEE

3) loses 1%

1% Hraifa §

4) None of these
EREREIET

Correct Answer: loses 1%
1% Hrgifa §

Candidate Answer: loses 1%

1% Frafa g
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Question 54.Two numbers whose sum is 84 can not be in the ratio

& T TeTeT ATher 84 B, 3 a1l & & Ty 31e7dTel & =7g1 81 Fehell ?
Options:

1) 5:7

2)13:8

3)1:3

4) 3:2
Correct Answer: 3:2
Candidate Answer: 3:2

Question 55.By selling cloth at Rs. 9 per metre , a shopkeeper loses 10% . Find the rate at which it should be sold so as to earn profit of 15%

T3 gTeTeR I 1S FHUST Rs. 9 U #ex 1 & o 7t W 10% 1 gifer gt &1 a3 3 ot g & o) 31 S0 FHed gahieiaR &1 15% T ol1eT 8 2
Options:

1) Rs.11.20

2) Rs.11.30

3) Rs.11.40

4) Rs.11.50
Correct Answer: Rs.11.50
Candidate Answer: Rs.11.50

Question 56.After selling 5% of a quantity of sugar, 5 Kgs of sugar remains . Find the total quantity of sugar?

AT T Fool FHT T 5% 11T {9k STt o s 5 fohaim ey srerelt &1 <liefy T el AT ST ?

Options:
1) 19 Kg
19 f&.am.
2)

5
5—k

19 "8

5
519

fp.am.

3) 100 kg
100 .3,
4) 95 kg
95 foh.am.
Correct Answer:

5
SE kg
5

5_
d fh.am.

Candidate Answer:
5

5—k
19 8
5

5_
d fh.am.

Question 57.A train 110 metres long is running with a speed of 60 kmph . In what time will it pass a man who is running at 6 kmph in the direction opposite to that in
which the train is going ?

110 7. ot ¢oT 60 .20, gfy € Y IR & 11 WY § | I A sl e Hr Aol Rew & 6 f.#h. 9fa ¢ 1 Iwar @ s wr e aY arsv % ¢ 39 cafed & fhde
& A IR FH R ST ?
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Options:
1) 5sec
5 Qs
2) 6 sec
6 ThsH
3) 7 sec
7 @dhsH
4) 10 sec
10 TFzd
Correct Answer: 6 sec
6 Thsd
Candidate Answer: 6 sec

6 GehsH
Question 58.If x = at? and y = 2at then

I x = at 23y = 2atgrar
Options:
1) X2 = 4ay

2)y2=4ax
3)x2 +y2=2a?
4)x2 - y2 = g2

Correct Answer: y2 = 4ax
Candidate Answer: y? = 4ax

Question 59.
1+y2

If xy +yz + zx = 1,then the valueof ——————is
(x+y(y+z)

1+y°

Tigxy+ yz +zx =1, ﬁﬁm

I A 1311 ?

Options:
1)2

2)3
3) 4

4)1
Correct Answer: 1
Candidate Answer: 1

Question 60.If PQ and PR be the two tangents to a circle with centre O such that QPR = 120° then 2POQ is

I el gt Tt &g O &, & & T Y@M PQ 311X PR ¥ 81 & QPR = 120°, &Y T £POQ T ga ?

Options:
1) 90°

2) 45°
3) 30°

4) 60°
Correct Answer: 30°
Candidate Answer: 30°

Question 61.In A ABC , if zBAC = 90° and AB = AC, then 2ABC is

AABC # I 2BAC = 90° 31X AB = AC &I dr 2ABC &T g1em ?
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Options:
1) 30°
2) 60°
3) 45°

4) 25°
Correct Answer: 45°
Candidate Answer: 45°

Question 62.The value of tan 315° cot (- 405° ) is equal to

tan 315° cot (- 405° ) T AT F3T 1T ?
Options:

1)-1

2)1

3)0

4)2
Correct Answer: 1
Candidate Answer: 1

Question 63.Among three numbers , second is twice the first and also thrice the third . If the average of the three numbers is 33, then the largest number is

et FEIT3iT 7 @l FEAT Yol FEAT U garer 3R ey dear & e &1 9 et deansit @1 sihad 33 81 o Ged I8 §ear i @ g ?
Options:

1) 36

2) 54

3) 62

4)72
Correct Answer: 54
Candidate Answer: 54

Question 64.The average of 100 items was found to be 30 . If at the time of calculation , two items were wrongly taken as 32 and 12 instead of 23 and 11, then the
correct average is

100 He¥ & 3itaa 30 9T aram| Ffe At & @@ & #af & 23 31 11 F TAT 9T ITedT & 32 3R 12 = 3rm &Y ar 98y siraa F=am g ?

Options:
1) 29.8

2) 29
3) 29.9

4) 29.5
Correct Answer: 29.9
Candidate Answer: 29.9

Question 65.A box weighs 8.5 kg when full of sand and weighs 5.5 kg when it is half filled with sand . Weight of the empty box is

FIS AT 31 IT A $RT BT &1 Y 3T IoteT 8.5 TR, 3T, 1T & 31X ST I 3TeIm $RT 8¥aT & aY 3T goied 5.5 .31, AT &1 Wrelr S &l Iotel d1sT ?
Options:

1) 5 kg

5 fop.amm.

2) 6 kg

6 fp.am.

3)2.5kg

2.5 fF.am.

4) 4.5kg

4.5 foh.am.

Correct Answer: 2.5 kg
2.5 f.am.

Candidate Answer: 2.5 kg
2.5 fp.am.
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Question 66.
1 1 j
Ifa+5 = 1fmdb+E = 1,thentheva£ueofc+a is

1 1 1
aﬁ:a+3= 130 b+= =1, dl c+ = FIAAFATRIN?
c @

Options:
1)0

2)1
3)-1

4)2
Correct Answer: 1
Candidate Answer: 1

Question 67.
Two circles touch externally.The sum of their

22
areas is 130w sq.cm (taka’ng?r = 7) and the distance between their

centres is 14 cm.The radius of the bigger circle is

e aTeY & TYL &I § | SoTh TAhel 1
T 1307 T ALY (a-g'aqm;‘r@;rﬁ;n: %)

AR 37 Sl & d & gl 14 TAT §)

g3 drel ded &1 331 9aid ?

Options:
1) 22 cm
2279
2) 11 cm
11 3.
3)33cm
33 &
4) 44 cm
44 F.A.

Correct Answer: 11 cm

11 3.7

Candidate Answer: 11 cm
11 3.7

Question 68.
In an equilateral triangle of side 24 ecm, a circle is
inscribed touching its sides . The area of the remaining
portion of the triangle is approximately equalto
{assuming @™ = 2—: &3 =1732)

It walg (3301 & 15T & 8o 24 Q00 &

U Heddcd &1 S 59T 13 & 793 & T 81
FAgoT 7 AT HITT T &TTH0 FAHT [awidy aXIa G
T6 HAT §U [ (assuming == &3 = 1.732)
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Options:
1) 36.6 cm?
36.6 Q.2

2) 54.2 cm?
54,2 Q.2

3) 72.8 cm?
72.8 @72
4) 98.5 cm?
98.5 T.#1.2

Correct Answer: 98.5 cm?
98.5 A.77.2

Candidate Answer: 72.8 cm?
72.8 Q.2

Question 69.If the elevation of the Sun changes from 30° to 60° , then the difference between the lengths of shadows of a pole 15 m high, is

ST T T oot e 30° F 9 R 60° 81 el & e oy 15 #iex 3 oy i ot Y st 3 R 3t g ?

Options:
1)75m
7.5 #@iex
2)15m
15 #Hrex
3)10vV3 m
10V3 Arex
4)5V/3m
5v3 #iex

Correct Answer: 10vV3 m
10V3 #Hex

Candidate Answer: 10V3 m
10V3 #Aiex

Question 70.If a sum of Rs.12500 is invested for 1 year at 12% per annum interest being compounded semi-annually, then interest earned is

gfg Rs. 12500 ¥ ARY & 12% a1 Fregx & 1 a¥ F o Haer fmar se 3R samer & 375-a1i¥e w0 & GAiferd oar se ar fhd«r saret f&oem ?

Options:
1) Rs.1505

2) Rs.1535
3) Rs.1545

4) Rs.1550
Correct Answer: Rs.1545
Candidate Answer: Rs.1545

Question 71.
If tan(a — ) =1,5ec(a+ f)= \2—3 and a

B are positive then the smallestvalue of o is

gfe tan (a — ) =1,5ec (a+ ,t?)=j—-3E'T3ﬂT &,

B eellcA B @ el vdeTd A HIsl 3T Gram?
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Options:
1)

142-

2)

18?1—
2

3)
7=
2

4)
1°
F E
Correct Answer:
£
187 >

Candidate Answer:
37 X
2

Question 72.The pie - chart, given here shows monthly expenses on various heads and savings of the family of Mr Rao. Study the chart and answer the questions
based on it.

gl fou aTv g8 aré fATeX T & IRAR & e Al W o AT 9<Id ot 2T §1 IIE T 3EITT ST AT 3H TR 3TUTRA T2AT & ek QST |

e Food
54°
Education
a0°
b
Entertainment 13° =
14°
108*
Transport
lsll
Savings
Clothing 35°

Miscellanegus
The amount spent on food exceeds the total amount spent on education and clothing by

§STeT UR &g Y AT IR RAGT 74T Gl 0X AT o 3hi a1y ool IRY A fheelt 37f8h § 2

Options:
1)

1
— O
122 %
2) 25%
3)

331”
Ez’u

4) 50%
Correct Answer:
1
— 0,
122 Y%

Candidate Answer: 50%
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Question 73.The pie - chart, given here shows monthly expenses on various heads and savings of the family of Mr Rao. Study the chart and answer the questions
based on it.

gt fou 710 uTs aré fAEeR U9 & IRaR & [Affea Fel W ey aur sad &l 2T &1 T1E T eI PAT T4T 37 W 3T 99&7 & 3ca? S |

na Food
54°
Education
90"
e
Entertainment 1z =
14°
108*
Transport
18,
Savings
Clothing 26*

Miscellaneous
What percent of his income does Mr. Rao save ?

AT TT 39T 3T Hfhdett ufaerd H sad A § ?

Options:
1) 25%

2) 30%
3) 33%4%

4) 36%
Correct Answer: 30%
Candidate Answer: 30%

Question 74.The pie - chart, given here shows monthly expenses on various heads and savings of the family of Mr Rao. Study the chart and answer the questions
based on it.

gt U 91T uts A fATex g & aRar & faffesr el ) s qur saa it =i §1 9 &7 3reage RIFC g2 55 W 3TeRd 92&7 F 3ca) QT |

G Food
54U
Education
40"
7
Entertainment 13° =
14"
108*
Transport
15
Savings
Clothing 36°

Miscellaneous
If the total income of Mr.Rao is Rs.72000 ,how much house rent does he pay ?

I FAEER T 1 oot HITG 3T Rs. 72000 & A a8 ettt AR #Fehrat & oy H2a 8 2
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Options:
1) Rs.5400

2) Rs.9000
3) Rs.10800

4) Rs.12000
Correct Answer: Rs.10800
Candidate Answer: Rs.10800

Question 75.The pie - chart, given here shows monthly expenses on various heads and savings of the family of Mr Rao. Study the chart and answer the questions
based on it.

gt feu 710 uTs a7é TR U9 & IRaR & [ffea Fel W a7 aur sad &l 2T §1 1€ T eI RFT TAT 30 W 3T T9&7 F 3cc} ST |

Food
Rent
54°
Education
a0°
i
Entertainment 1z =
14°
108°
Transport
18[!
Savings
Clothing 35°

Miscallaneous
What percent of his income , does Mr. Rao spend on clothing , transport and entertainment combined together ?

et T a&, uRage 3R AR UR Fef TR & 319ai 31T o fohctetr Sfderd ofmer @ &l & 2

Options:
1)

3319’
5%

2) 27%
3) 25%

4)
1239

Correct Answer:
i
12-%

Candidate Answer:
1239

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

OBSEQUIOUS
Options:

1) DEFIANT
2) DISHONEST
3) SERVILE

4) HONEST

Correct Answer: SERVILE
Candidate Answer: [ NOT ANSWERED ]
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Question 77.1In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

RUGGED

Options:

1) HARD

2) STURDY

3) SMOOTH

4) ROUGH

Correct Answer: SMOOTH

Candidate Answer: SMOOTH

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Counterfeit

2) Counterfeet

3) Counter feet

4) Counterfiet

Correct Answer: Counterfeit

Candidate Answer: Counterfiet

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

When the stranger saw me, (A) / he seemed to recognise me (B) / and asked me what was my name. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: D

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

My lawn (A) / which is overgrown (B) / needs weeding (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: D

Candidate Answer: B

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Every man in this world (A) / wishes to live long (B) / but nobody wanted to grow old. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

One should always set some money for emergency.
Options:

1) aside

2) on

3) by

4) out

Correct Answer: aside

Candidate Answer: aside
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Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The train is expected to arrive in a few minutes platform six.
Options:

1)in

2) above

3) near

4) on

Correct Answer: on

Candidate Answer: on

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I haven't had opportunity to study during the day.
Options:

1) very

2) many

3) much

4) more

Correct Answer: much
Candidate Answer: much

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Cheek by jowl

Options:

1) Very close together
2) Arguing

3) Teasing one another
4) Avoiding one another

Correct Answer: Very close together
Candidate Answer: Very close together

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Beyond the pale

Options:

1) Unreasonable or unacceptable
2) Beyond redemption

3) Full of rhetoric

4) Distasteful

Correct Answer: Unreasonable or unacceptable
Candidate Answer: Beyond redemption

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Blow one's own trumpet
Options:

1) Play some music

2) Surprise oneself

3) Praise oneself

4) Condone oneself

Correct Answer: Praise oneself
Candidate Answer: Praise oneself

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Shine with a bright but brief or irregular light
Options:

1) Whimper

2) Flicker

3) Cower

4) Mutter

Correct Answer: Flicker
Candidate Answer: Flicker
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Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The act of setting free from bondage of any kind
Options:

1) Emancipation

2) Eradication

3) Indemnity

4) Emigration

Correct Answer: Emancipation

Candidate Answer: Emancipation

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A disease that affects a large number of people in an area at the same time
Options:

1) Endemic

2) Epidemic

3) Epidermic

4) Endothermic

Correct Answer: Epidemic

Candidate Answer: Epidemic

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Will you tell me who did accompany you to the airport?
Options:

1) when did accompany you

2) who must be accompanied you

3) who accompanied you

4) No improvement

Correct Answer: who accompanied you

Candidate Answer: who accompanied you

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Navinder and his wife departed for London by Air India yesterday.
Options:

1) to

2) towards

3) toward

4) No improvement

Correct Answer: No improvement

Candidate Answer: No improvement

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The rain brought more respite from the heat.
Options:

1) much respite

2) most relief

3) severe drought

4) No improvement

Correct Answer: much respite

Candidate Answer: much respite

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He speaks so fast to be understood.

Options:

1) very fast to be understood

2) too fast to be understood

3) too fast that he cannot be understood

4) No improvement

Correct Answer: too fast to be understood
Candidate Answer: too fast to be understood
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Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I and my parents live together.
Options:

1) Me and my parents

2) My parents and I

3) My parents and me

4) No improvement

Correct Answer: My parents and I

Candidate Answer: My parents and I

Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Most successful companies, institutions and organizations have mission statements. Most individuals don't. As the Chief Executive Officer of your own life in the
knowledge era, you need a laser like focus in your vision. You need a mission and a mission statement describing how you want to live, not just what you want to
own; defining the person you want to become, not just the title you want to see on your door; outlining the knowledge you will receive, not just the degree you'll earn
or your next promotion.

I began the process this way : "To be aware of the uniqueness of my associates, clients, friends and family, and to treat that uniqueness with loving concern. I was
created to lead myself and others to understand win-win relationships and how to use them to improve the lives of all persons with whom I come into contact."

You, too, can frame your mission statement starting with your core values, working outward to your material desires and financial needs.

What should a person's mission statement begin with?
Options:

1) Your core values

2) What you want to acquire

3) Your monetary ambitions

4) Your next promotion

Correct Answer: Your core values

Candidate Answer: Your core values

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Most successful companies, institutions and organizations have mission statements. Most individuals don't. As the Chief Executive Officer of your own life in the
knowledge era, you need a laser like focus in your vision. You need a mission and a mission statement describing how you want to live, not just what you want to
own; defining the person you want to become, not just the title you want to see on your door; outlining the knowledge you will receive, not just the degree you'll earn
or your next promotion.

I began the process this way : "To be aware of the uniqueness of my associates, clients, friends and family, and to treat that uniqueness with loving concern. I was
created to lead myself and others to understand win-win relationships and how to use them to improve the lives of all persons with whom I come into contact.”

You, too, can frame your mission statement starting with your core values, working outward to your material desires and financial needs.

What is the narrator's mission?

Options:

1) To discourage his friends and associates in every endeavour.
2) To improve the lives of all his associates.

3) To be aware of the strengths and weaknesses of his friends.
4) To ill-treat all.

Correct Answer: To improve the lives of all his associates.
Candidate Answer: To improve the lives of all his associates.

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Most successful companies, institutions and organizations have mission statements. Most individuals don't. As the Chief Executive Officer of your own life in the
knowledge era, you need a laser like focus in your vision. You need a mission and a mission statement describing how you want to live, not just what you want to
own; defining the person you want to become, not just the title you want to see on your door; outlining the knowledge you will receive, not just the degree you'll earn
or your next promotion.

I began the process this way : "To be aware of the uniqueness of my associates, clients, friends and family, and to treat that uniqueness with loving concern. I was
created to lead myself and others to understand win-win relationships and how to use them to improve the lives of all persons with whom I come into contact."

You, too, can frame your mission statement starting with your core values, working outward to your material desires and financial needs.

What does a 'win-win' relationship mean?
Options:

1) Every one must win always

2) There are no challenges

3) The relationship is beneficial to both parties
4) The competition is friendly
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Correct Answer: The relationship is beneficial to both parties
Candidate Answer: The relationship is beneficial to both parties

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Most successful companies, institutions and organizations have mission statements. Most individuals don't. As the Chief Executive Officer of your own life in the
knowledge era, you need a laser like focus in your vision. You need a mission and a mission statement describing how you want to live, not just what you want to
own; defining the person you want to become, not just the title you want to see on your door; outlining the knowledge you will receive, not just the degree you'll earn
or your next promotion.

I began the process this way : "To be aware of the uniqueness of my associates, clients, friends and family, and to treat that uniqueness with loving concern. I was
created to lead myself and others to understand win-win relationships and how to use them to improve the lives of all persons with whom I come into contact."

You, too, can frame your mission statement starting with your core values, working outward to your material desires and financial needs.

What are the suggested components of a 'mission statement'?
Options:

1) Win-win attitude, financial needs, knowledge

2) Core-values, material desires, financial needs

3) Academic qualifications, love, material desires

4) Core-values, joy, self- confidence

Correct Answer: Core-values, material desires, financial needs

Candidate Answer: Core-values, material desires, financial needs

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Most successful companies, institutions and organizations have mission statements. Most individuals don't. As the Chief Executive Officer of your own life in the
knowledge era, you need a laser like focus in your vision. You need a mission and a mission statement describing how you want to live, not just what you want to
own; defining the person you want to become, not just the title you want to see on your door; outlining the knowledge you will receive, not just the degree you'll earn
or your next promotion.

I began the process this way : "To be aware of the uniqueness of my associates, clients, friends and family, and to treat that uniqueness with loving concern. I was
created to lead myself and others to understand win-win relationships and how to use them to improve the lives of all persons with whom I come into contact."

You, too, can frame your mission statement starting with your core values, working outward to your material desires and financial needs.

Who is responsible for designing a personal mission?
Options:

1) A Chief Executive Officer

2) The family and friends

3) The Individual

4) The company

Correct Answer: The Individual
Candidate Answer: The Individual
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